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Abstract: Many people have done the expansion of maxwell's equations, because you will not do
wrong, so no progress in theoretical physics. Because of the expansion of the maxwell's equations of
this article, it can be under the condition of the existing system of physical right found a bit of
something new.
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These days, I've been thinking, physical aspects of "mathematical structure”
exactly where laid a hand on him, to find something new. Because if physics
continue to go forward, then later will inevitably be "new physics" contains "old
physics", and innovation. According to this train of thought, over and over, | think
the maxwell's equations can be altered, then tried a few times and finally
succeeded. This modified version can include the original version, and launch than
previous versions. Then | found that it can change to be like this, the two are
equivalent, and from the form to see, more beautiful, more meaningful.
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For convenient writing and contrast, we write it again "full version” of maxwell's
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This new version of the maxwell's equations, we can try a look can you find
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anything interesting.
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So, these equations and the new version of the maxwell's equations together what
will happen?

Comrades, the new world of physics.
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